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IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you shall to check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the invigilator within the

~ first 10 minutes and get it replaced with a complete question booklet. If the defect is reported

after the commencement of the examination, it will not be replaced.

Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top right side of this page. Do not -
write anything else on the question booklet. :

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.

Instructions regarding filling of answers ete.. which are to be followed mandatorily. are prowded in the
. answer sheet and in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fall to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in you? answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination. you must hand over your answer sheet to the invigilator. You are allowed to
take the question booklet with you only after the examination is over. '

You should not make any marking in the guestion booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to. :
Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.
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Consider  X={L,2,3,4 * Y=(5,678 T =i {1}{2 {2 {2 3,X ‘and
T, = {{5}.16},{5, 6} {6, 7, 8}, Y;. Then f:X Y defined by f({l}) {6}, f({2 4)) ={7}
f{(8h={8is ' -

(A) notafunction =

- (BN continuous function

| (C) . one-to-one function

(D) onto functlon '

(E) Answex not known '

o

The product of any non empty class of connected spaces 1s TR
(A) disconnected space _ ' |
(BN connecte_d space o
(C) anemptyset
(D)  a discrete two-point space

(E) Answer not known -

_I The spectral radius_formula is - R s . Lo
(&) .rg(A)—'suIJ.' Tl oie llm”A"’
: n= ]2 . o

i 5

(B)/ (A)* inf J4"[" _lnn”A”' -

n= 12 : n—0 :
(C ).j r (A)— inf [A" =1im“AF“'
n=12 1 n— :

g - (A)_ inf “A” = lim|A]"

n=l2 . A—m

(E) An_swer not known

A subset of a metric space is a set of the first category if it is the
(A) Intersectlon of a sequence of dense sets
(B)  Union of a sequence of dense sets

(&) Intersectmn of a sequence of nowhere dense sets -

( nion of a sequence of nowhere dense sets |
- (E) Answer not known
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n=1\T TR g o
. (A) Convergent : ' (B%niformly convergent

(©)  Absolutely convergent (D) Divergent
(E) Answer not known - A :

6. Yo the d1fferent1al equation 2x(x —2)%y "+3xy’ + (x — 2)y 0

(A) x=01is the regular singular point
x =2 1s the 1rregular Slngular point
(Bw 0 and x =2 are the irregular singular pomts
. (0) x=0 and x =2 are the regular singular point '
(D)  x=2 is the regular singular point .
_ x =0 is the irregular singular point
(E) Answer not known

¢ I Solutmn of yp = 2yx+logq is
(A az=ax” +a x+€ay+ab e z=x"+x+e® +ab
C) z=x’+e®+ab . D) _CIZ;ax2+a2x+ab
(F) Answer not known i doe s il

_8' ~ Given two equations xugi + y% o and chi = 22 + x? which of the following is
correct. :
(A%?)oth are linear . :
- (B) Former is linear and the latter 1s not linear
©) Former is not linear and the latter is 11near
(D) None of them-is linear
(E)  Answer not known
: 9. The linear Independent vectors in R3 is . : _
(1. 2. 041, 0),(1. -1, 3 B) (1,1,2),1,2,5),0,3,4)

© 0.1,0,@1, ;608 ® 1,-1,2), (129 ¢1,-12

®) Answer not known

-
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10.

1%,

12.

13.

14.

Whlch of the following does not come under prOJect cost management"

(A“ Quahty p]anmng
(B) R_e_source planmng
(C) Cost budgeting '

(D) - Cost control

"(E) - Answer not known

Evaluation in project appraisal targets

(A) 1mprovement within organisation

 (BA ‘outcome of the pohcy or programme by policy makers programme managers

(C) understanding of activities of programme managers.
(D) provide learning to the evaluators
(E) . Answer not known

Evaluation of quality and quantity of productlon the operatlng costs in productlon _
(A) Economic Audit : - )

- By Technical Audit
(C) Product Audit
(D) Financial Audit

(E) _AnSwer not _k'n_own

Ina prOJect life cycle forecast comes under .

A) Planning _ ' : - (B) Defmmg
5 (C' Execu_ting' GE (D) Closing
" (E) .- Answer not known S A

‘Time line’ the commonly used method to explore the temporal d1mens1on from a. |

historical perspective is a
(A) Loglcal frame analys1s method_
(B PRA method

- (C) Social mappmg method
(D) Transect .
.(E) - Answer not kn-ow_n

B BB
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18.

19.

If the investig.ator collects both quantitative and qualitative data at the same time

during the study and then 1ntegrates the information 1n the interpretation . of the

overall results Then this procedure is known as :

(A) Sequentlal procedure o j (B) Tlansformatlc procedure
(Cyg Concurrent procedure ' (D) Triangulation

(E) A‘nswer not known .

Identlfy the type of eamphng involves grouping the population and then se‘lectmg the

- groups rather than individual elements for inclusion in sample

(A) - Stratified sampling : (B) Quota sam_plmg
(CN Cluster sampling =~ -~ . (D) Systematic sampling

(E) Answer not known

Selecti_rlg every K item in a list as a method of sampling tech_nique is called
(A) Quotasampling = . (B) S_tratiﬁed sampling

(Cogf Systematic sampling - - (D) Purposive sampling

(E)  Answer not known o ' '

Due of the 1mportant char acterlstlc of a good 1esearch de51gn 18

(A_) - To use control variable _

o To minimize the influence or effect of extraneeus Varlable

(C) To restrain expemmental condition
(D) To avoid experimental error
(E) Answer not known

Which of the follewing statement is correct

(Awhe design in flexible 1 in exploratory study

(B) Probablhty sampling method can only be used in formulatlve etud}
(C) No pre-planned design for analysis is made in descriptive ‘-,tudy '

(D) Rigid design should be used in fmmulatlve study

(E) Answer not known

Researchers reject or disprove the to set the stage for further
_ experlmentatlon or resear ch that explams the position of interest '

(ANNull hypothesis : T (B) Statistical hypothesis

(C) Relational hypothesis - (D) Complex hypothesis

(E) Answer not known

RAPG/2022 :' _ & e S %



21.

'Jawaharlal Nehru Natlondl Urban Renewal Mission (JANNURAM) was 1naugurated

by whgm in New Delhi

(A -Dr. Manmohari Sl_ngh i ' (B) jDr. Pranab .Mukerjee

() Mr. Narendra Modi i - (D) Mrs. Sonia Gandhi

o

o

24, |

25.

(E) AnsWer not known

In whlch year the Tamﬂ Nadu State Human Rights commission was constltuted

under the sect10n 21 of the protectlve of Human Rights Act, 1993
(A 1997 . ; cor B R

€y 2017 o ; ) (D) 2005

(E) Answer _not known

Assertion [A] The new emphasme on regulatlon 111ustrates the emerging style n
'  Government organization. Which need a mlxer of leglsIatlve
administrative and judicial functlons '

= Reason [R]: = The Privatization of previously nationalized industries requires

judicial review to make regulator decision

(A) !A] is true and [R] is false

(B oth [A] and [R] are true and [R] is the correct explanatlon of [A]
(C) [A]lis false, [R] is true -
(D) Both [A] and [R] are true but [R] is not the correct explanatlon of [A]

_(E) Answer not known

Which of .the following. are not correctly matched? '

i) Max Weber S : German sociologist . _

(1) - Woodrow Wilson —  The Art of cutting metals

(i) F.W. 'Taylor - = - Unity of command

@iv) M.P. Follett —~  Creative experience RS

(A) - (1) and (11) only | - (BWG1) and @ii) only -

(©) () and (iv) aaly .o M) (@), (i), (iii) and (iv)
(E) Answer not known : i ..

~ Who defined . the Organlsatlon is the form of every . human assomatlon for the

attainment of a common purpose”"

() LD. White 2 e (B John D. Moone'y

(C) Frederick W. Tailor : (D) Luther Gulick
(E) Answer not known' ' s ;

e | RAPG/2022
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96. The condmons to find the point of inflexion of the normal Curve is
A f"(x)=0 and f"(x)>0 B) ['(x)=0 and f"(x) <0
(CV"(x):O and f"(x)=0 = (D)__ =0 and f”’ (x) 0

~ (E) Answer not known

= 27, - MGEof P01sson dlstrlbutlon i - '
5 (AV e l . . : '. (B) e,l(l_.é‘J_ !
(©) oil-1) : : = M) e (1-¢)

(E) Answer not kI_l_.(;.J-WIl

28. If both central limit theorem and the weak law of large numbers hollld.'f.or a finite
‘sequence {x, } with finite mean x and variance o, then the random variables are
(A) Independently distributed
(_BI)I Identically distributed -
'(C.) Dependent
(DWndependent and 1dentlca11y distributed -
(E) Answer not known

29. 1t Fn—”~> F then for every pair a<b, points Qf continuity of F then Jngn equal

to _
A fglla.bldF - . ®) [gI{a,b)dF
0 .' e ' e
(chgI(a, BdE A _j.gz(a,.b)dF

(E) Ahs_wer not known

30. The distribﬁt_ion function of the two-dimensivrandom variable (X, Y) is F(x, y)=
@) P(X>xYz2y) - BVYP(X<x Y<y) |
@) Paxelr z @) Py

(E) Answer not known

RAPG/2022 o s o e e



31,

32.

83

34.

irap

For a symmetncal d1str1but10n Md + QD (Medlan A Quartlle dev1at10n) converse :

A 25% of the observatmns
B 75% of the observations

( -90% of the observé.tion_s
(D) - 100% of the observations

(E) Answer not known

In case, K variate values Xl.,- XZ?..;_,XK have 'known'Weights Wy, W, i Wy

respectively, then the weighted mean is

B ST W . Twx

ofizwx. - plywx

(E) . Anéwer not kndﬁvn'

Column headlngs mn the table are called as

&) stub e (B body
©) footnote_ el " ( 'captiqri

(E) Answer not known

If a perpenchcular on the x-axis drawn from the pomt of intersection of both the
T 0g1ves we get : : -

(A) Mode

~(B) Mean

(C) Geometric mean -

ledian

(E) Answer not known

(B) AM. <GM <HM.

' When all the observatmns are same, then the relatlon between AM, GM and HM is’
(A) AM. <HM. <GM. ' |
(OW.M. ~GM.=HM. = D) AM>GM>HM

B - Answer not known

RAPG/2022
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36. Ifthe Durbm Watson d test is equal to 0, then the
e irst order Autocorrelatlon is zero. .
(B) First order Autocorrelation is perfectly negative

(C irst order Adt_ocorrelation.i's'per_fectly p__osiﬁve
(D) First order Autocorrelation is imperfec't_ly negative

(E)  Answer not known

‘37 - The consequence of heteroscedastlclty on OLS estlmators s that they w1ll be
(A B1ased _- ~ (B) Inconsi stent :
(Cwnefﬁment s _ ~ (D) Highly efficient

(E) Answer not known

38. . .Goldfeld-Quandt Test is used to detect the problem of
3 (A) Multicollinearity
(B eteroscedastlclty :
(C) . Autdcbrrela_i_;ion : |
(D) None of the above -
(E) Answer not khown'

39. In a snnple linear reglessmn model such as- Y Lo+ ﬁlX +u, 1f the estlmated value.
of the coefﬁment B 18 15.11 and standard error of /J’l is 6.5, what will be the value of
t- statmtu for ,81 ' S :
¢ 2161 . e (B)A32
© 9822 e A
(E) Answer not knoWn '- ' 2 '

40, ~ The dependent variable in regression analy51s is assumed to be
: (A) Non-stochastic '
~ (B) Constant
' (CWtoc_hastic
(D) Known values -

(E) Answer not known

gaporen: - o w0 o X



41.

42,

48

vi4d,

In research stud} an alphabetlcal hst of all source matenal to wh1ch reference has

been made is

:(Awlblrography |
- (B) Documentation
(C) Phonography

(l)) Report_
(E) Answer not known

A brief statement of the essential ﬁndlngs of a research s

' (A ¥ Conclusion

(B) Flndmgs

(0) Format

(D) Applications

® 'Answer not known

'The formulae of co-vamance 15 -

(B E‘}gloﬁo
© | : —%x 100
D) : g—ExlOO

(E) © Answer not l_m'(')w.n'_.

The true d]fference between the mean sample and the mean of populatlon is nil; the

i least difference found is unimportant (or) due to sampling error is called

_(A) , testmg of hypothesas

B) alternative hypothesm

 (CN#null hypothesis

(D) 31gn1ﬁcance of dlff_ere.nce

B Answer_r{lot' known

11
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45.

48,

o

o

49.

Industrial index is calculated by takmg into con51derat10n of the followmg ratlo 8
(I) - Percentage of the workers of the industry '
(IT)  Percentage of all workers found in each 1eg1on

(III) Percentage of natural and c11mat1c condltlons

(avy- Percentage of ava1lab1l1ty of Raw materials

: (AV) and (III) : e (III) and (II)

CNDanda@m . (D) @)and(dV)

(B) Answer not known

is not a functmn of World Trade Orgamsatmn (W’I‘O)

A) Implement and adm1n1ster WTO agreements '

(B Prowdlng a forum for negotlatmns among member countrles :

(C) Providing dispute settlement mechanism

. (Dy” Providing sufficient fund for trading to the member countries
(E) Answer not known : : :

Which type of accounts are components of balance of payments? '

'_(A) : Fmanc1a1 account and resource account
(B urrent account and capital account :

(C) Savings account and material account
D) Balanced account and unbalanced account
(E) Answer not known

The 1nterest rate wh1ch the RBI charges on its — lendings is known as bank
rate. S : : ' : ‘

(4) Medium-term e (B) Short-term =

(CWong-term_ b D) Overnight

(E) Answer' not known

Who pomted out that the obvious ob]ectwe of the monetary policy of a country should |

be to attain equilibrium between savmg and investment at the pomt of full

employment" :
eV . HarryG Jhonson St B Keynes

(C) Gustav Cassel _' i ( Crowther -
- (E) AHSWEr not known : : i o

Sepawmy Ba 0 T o



50.

51.

92.

53.

In the time series data, Deseasonalisation of data, the Additive model the observed

value is expressed as

(A

B)

©
)]

(1)

(11)
(111)
(iv)
A)

0
(E)

Y=T+S+C+I)-8S

Y;S+T+C+f

y - ICSI

S

Y=C+I+G

Answer not known

In India the Fertility Rate among }‘roung married women rising g‘radually, du-.é to
- following reasons ' :
Improvement in nutrition and health of couples
Improvement in Education and awareness
Duratlon of breast feeding in infants by mothers has been reduced
Traditional social cheeks on fertility have been reduced
(1), (11) and (iii) ' : (B) (i), (iii)) and (iv)'
(©), (111) and (iv) D) (@, (ii) and @iv)

Answer not known

The major objective of educational plénning in India is

(A)
(B)

Increase in employment

Reduction in poverty

(Meductlon in regional dlsparltles _

D)
(E)

©

(B

Gender identity

Answer not known

- 38.2% of the foreign investment is in the nature of
(A) Human Capital Investment (B) Technological Investment
~ Autonomous Investment st inancial Investment

Answer not known

13 i RAPG/2022
: [Turn over



54. The present epoch in the Earth’s age is known as
.(A_ . Holbcene_ . 5 '
(B) Miocene
R (03] Plelstocene
o B Pliocene S
(E) Answer not known

65. Hand axe tradltlons and ﬂake trad1t1ons are the tool makmg tradltlons of the _
' (A) * Upper Palaeolithic i
" (B) Middle Palaeolithic

(CWOwer Palaeolithic
(D) Noné of the above

(E) . Answer not known

56. | Who found the first ever Palaeohthlc artlfact in Indla‘7 _
(A) HD.Sankalia e R Battacharya .
(C) C.J. Thomson = - - (]M.ob-ert Bruce Foote
(E) Answer not knowri_ - : : :

57. Who among the followmg was/were the part of Cambrldge expedmon to Torres

- straits? e . | _
@ Al Hadden _ o (B) Ri\é’ers- : _
(C) Seligman - (MH e

(E) Answer not known

58. Which among the following is defined as a 'descripi_:i\}e account of the way of lifeofa -
~ people living at a time in a particular society? : - ' ;
(AN Ethnography v 6
(B) Ethnology
~ (C) Ecology
(D) Entomology =
(E) . Answer not known

RAPG/2022 e Gage. . e



89.

60.

e

62.

63.

64.

In the absense of law defined in terms of central authorlty, courts and constables

which of the following help in maintaining order in s1mple soc1et1es‘?' :

(A) Folkways SR Tor (B) Mores
~ (C) Customary rules : o Mll of the above
~ (E)  Answer not known 5 .

- Family is rooted in

(A) Human nature e -~ (BWHuman blologlcal Weaknessea =

; (C) Hu.-m'a_n-wisdom . > e (D) Sub humans trends

E) 'Aﬁswer not known

‘The communities. Wthh belong to one of the tour varnas are called
et o (B jatis
(C) avarna e Nsvarna

" (E) Answer not known

.'The process by which culture is passed from one generatlon to the next

'(A) - Trans culturalism _ (B) Cultur al relat1v1sm

(C)-_ Ethno centrism - : oo ( En culturatl_on

(E) - Answer not known -

 Political Anthropology is -
it (A) A branch of New political science

(B) An mdependent branch of anthropology

( A specialized area of study in social- cultural anthropology

. (D) Isa branch of apphed anthropology

(E) Answer not known

- The SImplest form of frue poht1cal orgamzatlon b .
(A Chlefdom - = By Panchayat '

(C) Tribe e ~ (OWBand

£ (E) Answer not known

i S . RAPG/2022
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.65. The Four mam Operations of information system are =
E'ntering data into the IS _
' Storing data and Info'rma'tion

Getting Informatlon out of IS

BN

Changing and Mampulatmg data in the IS 2

| (A)\/l) ), (3), 2)

® @O, 9,0.6
(©) @0,6,@
D (1), @, @

(E) Answer not known - e

__'6'6._.' .-In_ a negatiﬁrely skewed distribution. _ b : = e
‘(A) Median > Mode > Mean - (B) Median = Mode = Mean
- (0Mode > Median>mean (D) Mode < Median < Mean

(E) Ans_wer not known

67. . Arrange the chronologlcal order:
' The research process involves the following sequence

Review the literature
'Formulate the hyp_otheses '
Interpret and report L |
Define the resea_reh problem
Alla_lysihg data

Collect data

ﬂ@.@"ﬁ-‘#'w.wr*

Design research

@ 1,0, 16,96

®) @), @, @) @, ©),6), 3
oD, 1), @, D, 6), 6), 3
D@00 6),@,6),6)

_(E) - Answer not known

RAPG/2022 S g



68.

69.

0.

71.

Choose the correct answer from the following
It is the process of dlfferentlatmg between applicants in order to identify ( and hire) -
those with a greater like hood of success in a. Job :

1) Sel_ectlon

' (11) Pe'rformance appraisal

(iii) i ob description

| (1v) Job specification

@) G | o

Lo - D @

(E) Answer not known -

. Select the best statements -
@) 'Targetmg is se]ectmg a su1table segment

Gl ‘Segment is a group with atleast one homogenous factor

: :(A)_ (@ and__(u) are false N (1 (1} and (ii) are true
(C) (1) is true but (i) is false i (D) @) is false but (11) is true -
~ (E) - Answer not known ' : = '

_ Chdose the right answer

Book valueis . - o
(A%\Taet worth of the company d1v1ded by the numb er of equlty shares

- (B)  Net worth is divided by the debentures :
(©) - Net worth of the company divided by the numbers of employees
(D) Net worth of the company d1v1ded by the number of directors

(E) . Answer not known

KAIZEN is

1) Continues' improvement :
@ J apan__eee Term
(3) Greek Term

' (4) Used in fmance :

(A“l) and (2) are correct b : @ @ anrl (3)_are- correct

(C) (2) and (4) are correct D) (3 and (4) are -
(E) Answer not known G R e

1% e | RAPG/2022
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ce ~ Complete the sentences :
Break Even Analysis is also called as

(A) Total profit analysis
(B) Total revenue analysis

(C rofit -oonti'ibutioﬁ analysis- :
(D) Revenue ainaly_sis . :

; (E) - Answer not known

73. Thefu ctions which -constitut_e_'t-he manégeﬁal activity are often classified as follows .
@A é _ :
(B) Organising, planmng, directing, staffmg and controllmg

lainning, org’énising, 'stafﬁng, direeting and controlling

' - (©) Plannmg, directing, orgamsmg, controlhng and stafﬁng
AP Controlhng, staffing, organising, directing and _planmng
(E) Answer' not known : e

.74.' '-The concept of Management By Ob]ectwes (MBO) n the fleld of performance_ '
appralsal was first gives by the followmg e

i PeterF Drucker

(i1) Fredenck_W. Taylor_ o

Gii) EltonMayo

'.(iv) Edwards Deming : o

@ et (B (i)
- . o
- (E) Answer not known T

75.  In _ emphasis is given on practical aspects and poli'cy..implications.
e Technical Report: ~~  (BMPopular Report 5!
i Monograph _ - e (D) Research Report

(E) Answer not known '

| 76 The ____is the only indicator of central tehdency that can be used with -'
~ nominal data. - St O e b Fi
) mean. ~(B) median

(CNmode @ average
(E) A_HSWer not known : : h
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78.

. Identlfy the programme whlch prov1des employment 1:0 adult members in rural
- household? '

(A Sampoorna Grameen Rozgar Yo;ana
_(B) N ational Food for Work Programme .

©) Swarna Jayanthl Shahari Rozgar Yojana

= (Matlonal Rural E Employment Guarantee Scheme

(E) Answer not known

Which programme aims to estabhsh large number of industries through bank credlt_

~ and subsidy and bring assisted famlhes above the poverty hne in 3 years? =

T JosY
~ (B) PMRY
©Wfscsy
" (D) DDP

79,
(1) . Swachh Bharat Mission

80..

(E) Answer not known

Arrange the follOWing progr_am in chr_onol_ogical order

(2) Total Samtatlon Campalgn

'(3)_ Central Rural Sanltatlon Program

“@ 'Natlonal Rural Health Mlssmn '

@ 1,@,06).@

BV, @), @, (1)

O @3, Q0

D) (1), @, (3), 2

(E) Answer not known

. Accordlng to whom inter- caste marnages can remove castelsm?

(A) Trawati Karve

oAy PN, Prabhu _.
(C) AR.Desai

G.S. Ghurye -

" (E) Answer not known

CERGE Rl . RAPG/2022
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81.

82.

83,

- 85.

_ Whlch of the followmg is not the demerits of Jomt family system?

A) Limits social moblhty'
(B) Demes_prwa_cy_

(« Provides leisure

.' (D) Promotes idleness

(E) An’swei‘ not known’

A person may accept the goal but not the means. He may- create his own means for

achieving the goals dnd in this sense he becomes a dev1ant Thls type of dev1ance is
called |

(AN Innovation . ' (B) .Ritiiali"sm_

(C) Retreati'sm'_ Sl o (D) . Rebellion

 (E) Answer not known

'Whioh of the follo'wihg is not a characteristics of competition?

(A) Scarcity as a condition of conflict

(B) Competition as coritinuoos_ :

(CN\ Cultural competition _
D) Competltlon A cause of social change
(E) Answer not known

— said that “The best history is in fact sooiology : the Socio_logy of the

e | e
(A)  Robert Bierstedit B eter Worsley

(E) Answer not known e et

Which of the following statements are true with tho nature of sociology? -
(I)  Sociclogy is not a normative 'dis_c'ipline : :
(I) Sociology is not a general science

(III) Sociology is not a particularising science.

(IV) Sociology is not a concrete science

@ @ @ad@ ® 0. and @)
CNTD), 0T and @V) (D) @D, (1D and @V)

(E) Answer not known
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86.

- B

88

89

90.
- (AN

An example for alternative hy-pot_hes’is

(1) H, : 1 =

@) Ho:po#p

) H,cas

(iv) .H1:ﬂ¢'<__#]' -

A o'nly" - e _Q e (B) (i) and (iv) amy
"oy e WG, (i, ()

" (E) Answer riot known

The concept of Reﬁealed comparative advantage was introduced by

() AdamSmith . (B) David Ricardo
(C ela Balassa - . (D Marshall
(E) Answer not known . ' '

International year of Desert and desertlﬁcatlon was promulgated by United N, atlons

in the year s
(@) 2005 = (B)/ 2006
e ageud - L e D) 2008

(E) Answer not known

An exa ple for beneficial consumptlon externahty is
(A&llccmatmn against infectious disease

®B) Factory shift alarm . '

(C) Noise pollution

(D) Effluent discharge from factory

(E) ~Answer not known

In éc}ogical pyramids, highest population 15 _ _
Producers - o 7 N 2 (B) Consumers

(C) Predators .' _ | e (D) Secondary Cons'um.er..

~ (E) Answer not known

S Ea e e . RAPG/2022
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9t

"~ (A) Broker . e - (B) - Processor
_92..
93:

94.

95.

96."

An ekample for merchant middlemen is

(C) COmmis_-sibn agent = (I ole_sa-l_ér

@) Answer not known

The National Instltute of Agncultural Marketmg is located at
(A)/Jalpur (o - - (B) Hyderabad
(C) Cochin T - (D) Bangalore .
(E) | Answer not known ' | '

The f_éature of the kinke_d'derriand curve falls under the market structure called as
(A) Duopoly : . . R ik : Oligopoly o

(C)- Monopoly B _. e (D) Monopsony

(E) Answer not known TRy |

Fiscal policy refers to

(A) Cash liquidity ratio . (B Government’s spending activity

: '_ (C.)_ Cash réser\fe__ratid S b .(D)'. Pfivatte-_expendi’turé

(E) Ailsw_er not known

L’iquidi_ty__tirap'implies :
(A) Speculation :

. (B) Inﬁmty

(C)  Perfectly 1nelast1c demand for money '
D erfectly elastic .demand for money

(E) Answer not known

The situation in whlch price of the commodlty increases is followed by an extensmn :

: of demand is called as

(A ) Law of demand - 5 . _- ( Glffen paradox
(C) Cross demand . A (D) Derwed demand
_(E)_ _ Answer not known : |

B o - g _ ey



97.

'A coin is tossed 400 times and it turns up head 216 tlmes The hypothesm that the

coin is unblased can be tested by :

._ (A) % test | ' B) =z test
 OMfBoth @) and B) D) Fest

98.

99.

(E) Answer not known

- A test whlch maximizes the powe1 of the test for fixed a 1s known as :
: AVOptlmum test - (B) Randomized test

(C) Bayestest <. . AD) . Likelihood ratio test

. (E) Answer not known

'For estlmatmg the populatlon mean T let Tl be the sample mean under SRSWOR .

- and T under SRSWR then :

100.

101

L

o vEeYE) (Dﬁ(ﬂ)wce

@) V(Tz)—V_(Tz)' . ® V(Tf_)‘v('r)

E) Answer hot kn'ewn' :

Wlth usual notatlons populatlon mean square of the ith stratum is

(Al%?2 —Z Yyl (i-1, 2,..%)

i-:

N,

® SN S5 - -1 2.

ot

© el S Rle12.8)

Ji -
A=
® s —.% S T F et n
ey gl

(E) Answer n_ot.'km.)wn :

Valience of )_{ under random eemplmg propertional ailocatlon and. optlmum

allocation hold the correct 1nequa11ty as : . o s b g
V;n (Xbi)z mep(fst)z Vopt(")_(“sr) (B) eran,(X )<mep(X )< V (— )

©  Vioop ()5 Vien (Ko)< Vi X, ) O Veul® ) VB )< VoK)

prop

(E) Answer not known

. - RAPG/2022
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'..1_.02.  A'bag contains 4 red and 3 blue balls Two drawmgs of 2 balls are made. T he chance
- that the first drawing gives 2 red balls and the second drawing 2 blue bails 1f the-
balls are not returned 1s : :

o Pe i _ 3
o = | _ (D\/gg

- (B) .A_n‘sw.er not known

108 If the probablhty of a bad reactlon from a certam 1n}ect10n is 0.001. What is the .
chance out 2000 1nd1v1duals more than 2 will get bad reaction [e? =0.136]

AN0.32 Ao o 0.23
(¢ 033 ' D) 034
(E) Answer not known ' .

104_; If r is the correlatlon ooefﬁcwnt in a sample of n pairs of observatlons its Standard

Error is _ _
P ®. =L
o e SR
e G e
© Lﬁl S (ﬂ/l :

(E) Answer not known :

' 105. The value of coefficient of correlatlon 7 is

* (A)\/—15rs+1_ e
(©). >t caea L
.'(E) Answer not known .

106. If T = {X 99, {3, {2} {1, 2} {1,4,5}, {1,2,4,5}} is atopology on X'={1,2, 3 4, 5} and =
=41 & 3}cX Then the topology T,={A, ¢, {1}, 12}, {1, 2} 1 isa :

(A) upper limit fcopology = (B Jower limit topology
(Cwelative topology oo Dyt a topology

(E) Answer not known .



107.

'108..'

o
®

109

2o

110.

If f is strictly i lncreasmg and contlnuous on [a b] then f

Increasing on

@ [a fO)] B [f@), bl
© lab (Mf(a) fo1
(E) . Answer not known

A conjugate harmonic of w(x,y)=e"siny is

”'Under what condltlon u+iv and Utin both are analytlc

A uis constant °

B wvis constant . _ _

~ (O\f both  and v are constant

u® +v° is constant
(E) Answer not known
~ The function f(z) = '21_. is -

S ; 27 +4

_' (A) Analyt-ic forall z

 (B) Analytic for z=-2

SRy

D)
- (®

(E)

(CVNot analytic at z _,+_ 2
Analytic only at z = 21,

Answer not known -

t

is continuous and strictly .

(A ._—excosyv%-C_.' | (B) -_excosyﬂ—C
e’ cosx+C ' (D) _—eyoos-x+'C s
Answer not known 5 :

A monotomcally increasing sequence which is not bounded above is

(A) convergent to 0
(B) dwergent_ to to.
A0 | eonvergent o [
(D3 divergent to — o :
Answer not known

RAPG/2022
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: 112. The set z of mtegers is a subring of the rlng Q of ratlonal numbers. Then z 18

(A)%t an 1dea1 of Q

(B) oniy a left ideal of Q-
© only a rlght 1dea1 of Q
D) an 1dea1 of Q

'_(E) Answer net known

113 Let G be the group of integers under addition and define automorphism ¢:G -G -

by _ | s
_ (A)_%: x — 2x for every x e G = (B) g:x > x” for every X € G
ey drxirn for every x g (D) $:x—> Jx for every X e G

(E) Answer not knoWn_

114. Let G be the set of all 2 x 2 matrices [a. ] where a,b,c,d are integers modules 2
~ such that ad ~bc # 0 Under matrix multiplication G is a group and is of order.-
U e ® 10 | |

B R e

(E) Answer not known

115, A.noi'l empty subset H '.'of .the. groﬁp Gisa sub.'gr'oﬁp of. G 1fand only if .
- ok om gtem
el . T Baa bl
; .(E)-_ Answer not known ' i

2136 A set of questions developed for one or more focus groups is called
(A . Structured Interview Schedule ' (B) Open ended Questlonnalre
(C) Mailed Questionnaire o ([VA Questlonmg route

(E) Answer not known

. RAPG/2022 e e e e



117

Evaluatlon of a project from the pomt of view of natlonal Vlablhty has to be done in

(A)  Social fe a51b111ty

(B) Impact assessment

Tt #Cost benefit analysis

118.

119.

120.

“qe7.

(D) Funds availability
(E) AnSWer _not'-known

_ is used for elicting the opirlion_s of a group of experts with the help of - |
amallsurvey : i Gl R :

.(Aw)elphl method '
(B) Trend method '

- (C) Casual method
(D) Projection method -

(E) Answer not known

Case s_tudy is the form of

" (A) Action Research e Quahtatlve Research

(C) Quantitat__ive Research e (D) Research De81gn

(E) __ Answer not known

In research s proirides__-a convenient means of establishing precise
- location of number of pomts S : _ :
(4) Surveylng i (WP Trisngulation

(C) _ Analysing _ : (D) Indexing

(E) - Answer not known

In data collectlon for soc1al research whlch one of the followmg belong to secondary

data?

(A) Statlstlcal Abstracts of States

(B‘) Report of Mummpal Corporatmn

© ublication of Research IIlStltl.lthI‘lS '

(D Alloftheabove e

(E) Answer not known

27 ' . RAPG/2022
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122. Which of the following is-not'aleifel- of measuregient?
(A) Nominal PR  (BW Variable
&) Ondid s | ' (D) Ratio

"~ (E) Answer not known

123 Whmh one of the followmg 18 not an example of Quantitative research‘?
C:VEN Census method

- (Byg Focus gro_up_dlscu_ssion'

: (_C.) - Opinion polls '
(D) - Outcome evaluation

(E) _ Answer not known

124. Which of the following research design is a sourée of groﬁ'nd'ed theory?
A His.toric'al'design_. : S
: = '-D‘escriptive design
: (Mxploratoi‘y design
(D) None of the above

(E) Answer not known

125. _The norm of voluntary paltlclpatmn and e _is_ important in conducting
research with human subjects = e i '
A) Informed conduct = | . (BMInformed consent
(C) Un-assumed consent = (D) - Assumed conduct

(E) Answer not known

126. Which of the followmg is used by ph1losophers and thmkers to develop new concepts b
or to reinterpret existing ones :
' (A%onceptual research
B) D_escfiptive research
. () _ Fundameﬁtal researéh

(D) Empirical reséarch

(E) . Answer not known

RAPG/2022 e e o -
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127 ‘Assertion [A]: The systems approach gave raise to contmgency management

129. .

130,

Reason [R] Tt is also known as modern OI‘ngllS‘dthn theorv

.(A_) _Both [A] and [R] are true and [R] i 18 correct explanatmn of [A]

B Both [A] and [R] are true and. [R] is not a eorlect explanatlon of [A]

- () [Alis true but [R] is false
(D) - [A] is false [R] is true

(E) Answer not-known

how the mformatmn and data gathered is to be analysed

(A) The observatlonal de51gn
(BN The statistical design
(C) The operational design
(D) The _-sa_mpling deeign

) _' Answer not known

The Third Minnow Brook conference was held in the year

(A) 1968, Syracuse university

. (B“ 2008, Syracuse university
(C) . 1988, Syracuse university '

(D) 1960, Syracuse university

(E)y Answer not known

Arrange the followmg drafts of Woodrow W1lson in chronologlcal order
4 The study of Administration ' :

2 Notes on Admmlstratlon

3. - The Artof Government

'.(A/231

) 1538 '
@ 521
@ 3,19

(E) Answer not known

- 29

Whlch concerns the questlon of how many 1tems are to be observed and

- at
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131. GiVen a pr.ob'abilit'y density function |
' ' e‘k gy >0
f() {0- x <0
~ Find the probability of P(1< X<2)

=tk

e e (B) e
w0 ) (D»/

 (E) Answer not known
132. Let g(x, y) be the continuous joint probability density Ifu'nétidn,- such that

' g‘(x;y) = [x' +1], '(y +.1j ;0<(x, =1
The margmal probablhty dens1ty functlon of Xis :

(A x+—;~,0£x51 ' . - (B) x——;—,0<x<1
40 y+§,OSysl ShE AR y—-Q—,OSysl
' (E) : Answef not knoWh G

- 133. For the cdnditid_nal_-event A|B, the nu-nibe'r of sample pbinﬁs of the évent Bis.
@ S o - ® nA4nB ' s
onad . o D

(E) Answer not known

1._34. If the first four central moments of a dlstrlbutmn are O 2.5, 0 7 and 18 75 then the
Skewness and Kurtosis are :

(&) : ﬁl.—0-57,52—7.' -.'_'(B%1'=0-031:§ﬁ2.=3
© « p=073;5,=10 = (D) B =085; =4
(E) Answer not known ' s

135. In case of positive skcwed dlStI‘lbuthI‘l the relatmn between mean medlan and mode-

that holds 1s : . _
(A) Mean = Median =-M0de T s o ean < Median < Mode -
© Median > Mean < Mode '(Dﬁéan > Median > Mode
(E) Answer not known ;

R R L e e



1'36 Movmg average method of fitting trend in a time series data removes the effect of

A)
@
©

o

137,

138.

' 139,

®

140

(E)

Irregu_lar variations
Cyclical variations .

Long term movemerits

#/ Short term movements

Answer not known

In a_\binafy logit model the measure of goodness of fit; of the model is indicated by ;

(cv Pséudo R =~ s o APy Q statistic '
(E) Answer not knewn_ ; :

Chow-test Tﬁvithout dummy variables does NOT .t'e_ll us |

(A)

(B)

(

®
(B

That the two regreSSioh are different

There is significant structural break in the data

The source: of 'diffez"ehce'betw'een the two regressions '
The estimates of the two regressmn funetmns are statlsncally q1gn1ﬁcant

- Answer not known

Which one is true when a time series is stationary?

(4)

(©
(

®

Time varying mean

Time varying variance

Time varying mean and variance
Time invariant mean and variance

Answer not known

'Dummy variable class1fy the data 1nto
(A)' '

-

©
D)
(E)

Incluswe categorles
Mutually exclusive categorles
Related categories -
Quantltatlve categorles .

- Answer not known

o s ~ RAPG/2022
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i41. Regr ession analy51s 1s.concerned Wlth estimating _
' (Awhe mean value of the dependent variable | §
(B) The mean value of the explanatory varlab-_le
. (C). ~ The mean _V_alne of the correlation coefﬁc_ient
(D) . ‘The mean value of the fixed ﬁarie_ble : |

- (E) Answer not known

142, Pearson s correlation coefﬁment “r” ranges between

(A) Osr-s-l_ '
B -a<r<+a
-('C)\/ 1<r<+1
D) 2<r<4

(E) ~ Answer n_of known .

Tan Whlch one of the followmg does not fall into nommal scale of measurement'?
(A Age 1in years of a person . . :

(B) = G_ender of a per_son

©) . Choiee'efe eaf by -a. pex';so.n. 5

(D) Marital status of a nerson -

E®) Anewer not known

'.144. The date on GDP; nne_mplo_yme_nt, household expenditure, are _examplee of
.(A.) Expe_fimentai data | | - : |
= (BWon-Experimental data-..
‘_":(C) Cross section Id'ei.:a -
(D) = Time series da_t.et

(E) Answer not knewn

RAPG/2022 o



145.

146,

: (A) Cenclusmn
| (B) B1b110 graphy
| (cy./xndex :
(D) Techmcal appendlces i

(E) Answer not known -

must be prepared and be given 1nvarlab1y in the report at the end.

The sources of 1nf0rmat10n can be cla531ﬁed into documentary source and fleld source

who said?

(A) Gordern Geoffery

(B Paulirie V. Young

_(C)- FN Kerlmger

o

148,

(D) L i Thurstone

(E) Answer not known |

A universe contalnmg persons (or) concrete obJects i8 known as

(A existent (or) real population

(B) ﬁnite. (or) infinite population

(C) statistical (or) sampling popﬁlation

(D) - intensive (or) possuble pOpulatmn

(E) ' ’Answer not known

Primary data can be collected by two methods

@ EHQUirY ﬁnd- Sampling :

'(BWen.s'us and sampling

O Sampling and enumeration

(D) Investigation and sampling

(E) 'Answer not known

33
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Constructmg a Consumer Price Index through aggregate expendlture method

1nvolves ., _ : : : : E
(A)_' Base Year prices as welghts = -(BAase year quantities as weights
(©C) Curren_t year prices as weights (D) . Current year quantities as_weights_' z

= (E) Answer not known

150.

151.

152.

- 158,

'The excess of aggregate demand over the available output on account of rising money
: 1ncomes at the full employment level is referred to as

(A)_ 1nﬂatlonary pressure i : (B) poverty gap
-(Cwnﬂ_at_l_onary gap - . : (D) income gap

(E)_ Answer not known

VAT is simply a — that exempts the purchase of intermediate’ goods _and'

services from the tax base. . . : ' . :
'(A)' Single stage sales e (BWulti s_tage'_sales_ta_x

 (C) Multi stage income tax (D) Multi stage corporate tax

(E) Answer not known

Which one is the instrument of fiscal policy?

(A Taxation -
 (B) Rate of interest
(Cy Open. market operation
(D) Bank rate : .. ._
(E) Answer not known 3

The plannmg Commission’s estlmates in the rural area, the poverty line on the ba51s'
of recommended nutrltlonal requirements of

(A 2435 rounded as 2400 calories person per day in rural areas

(B) 2095 rounded as 2100 calorles person per day in rural areas

' ) 2495 rounded as 2500 calorles person per day in urban areas i

(D) 2195 rounded as 2200 calories person per day in urban areas

(B Answer not known

e a0 h



 154.

1585.

: (AWgrlculture

- (B) TIndustries g
(©) Oceans
'(D)j' Forests

is the source. of supply of raw materlals to our leadlng mdustrles

(E) Answer not known

The Natlonal Co- operatlve Development Corporatlon (NCDC) was setup in
(A) - 1962 : :

@963
(O 1959

. (D) 1965

156.

157.

158

(E) Answer 11_01: kn_own

The term Scheduled Caste was comed by
(A) Mandal Comrmssmn '

(B) Kothari Comnnssmn

(CW Simon Comrmssmn

(D) Constitutional Draftmg Comm1ttee

- (E) Answer_not knewn

Whlch of the followmg trlbe is found in Tamil Nadu? _
@ Muris | (Malayah i

(E)  Answer not known _

Post glacial / post plumal Neothermal permd has been referred as

'(A) The Recent

B) Holoce_ne. perlo_d : |

_(C\Abth' (A) and (B)

(D) None of the abeve
(E) Answer not known

e - RAPG/2022
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159

 160.

9L

' 162.

Founding member of Post modern anthropology
(A) Margery Wolf i o (B) Nancy Scheper Hughas
(C o Clifford Geertz. i (D) Stephen Tyler

(E) .- Answer not known

A best example fo'r_ a ritual of inversion

(A) pilgrimage ' : (B carnival ' _
: -(C)' life-cycle ceremony - (D) a temple festival

(E) Answer not known

A mode of exchange in Wthh transactions take place between individuals' who are
symmetrlcally placed 3 S

(A) barter = ' (B recipr()ci_ty :
S(C) redistribution -~ (D) market

(B Answer not known e

:Kmshlp was first studled by e _. i '_ ' | .
. (A EB. ’Ibrlor S A _(BAwis Henry Morgan
“(©) GP.Murdock (D) Levi Strauss -

163.

164.

(E): Answer not known

The marriage preference rule in Whlch a w1dow marries her deceased husbands '
brother is called ; : '

(A) | Serial _m_onogarny' SR :'(B) Sororate

(C) Ghost marriage - = (D evirate'.

(E) Answer not known

Productlon 18

(AN#the different ways of cultures orgamze the Tesources, labour and energy

sources around them

(B) found only in mdustrlal sometles

* (C)* only involves men, as it’s about economlcs and pohtlcs

D) all of the above is true of productlon

(E) - Answer not known

s - . B - L



165,

~ Which of the followmg information systems are designed to prov1de accurate tlmely o

166.

167.

168,

Choesethe correct ahsWer from the following:

and relevant information needed for effective decision making by managers in. the '
orgamzatlon‘? ' it

(i) Decision Support S"y"ste'm' (DSS)

- (1) Management Information System (MIS) -
- (ii1) Transaction Processing Systems (TPS)

(iv) ‘Executive Information Sy_stems (EIS).

e = B) (i)
e = | i)

(E) - Answer not known

'Choose the wrong answer among type

@ J udgement sampling is very helpful to make pubhc pohcles .

(i) © The estimates are accurate - -
- (1) It is very helpful to make public pohcles decisions etc
By It is most useful in qualitative research practlces

4. (1) and (1_1) are-correct e g (1_). and (1;1) are 'correct '.

(©) (@) and Gii) are correct (R Gi) and (iv) are correct
(E) = Answer not known ' St CdEs _

Types of reports is as under
(i) = Summary report -
(i)  Nature of report

{(11) Technical report

(ivy Popular report

(A (@) and (ii) are correct 3 (B) (1) and (iii) afe_corre_ct -

(C)_ - (it) and @(iv) are COrreci; S 2 ( iii) and_ Gv) siro corve ¢
(E) Answer not known - e

The meaning of samplmg error can be easily understood from the followmg equatlon
A Samphng error = = Frame error — response error — Chance error

(B) Sampling. error = Response error — Frame error + Chance error

(g S’ampling error = Frame er.ror + chance error + response error

(D) - Sampling error = Chance error + frame error — response error

(E) Answer not known

sl e
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169 Choose the Right matches
In bcg matrix _
Stars — High mdustry growth rate and hlgh relatlve market share

@)
(i1)
(1i1)
@v)
@
©
(®

Cash cows — High industry growth rate and low relative market share

Question marks — Low industry growth rate and high relative market share

Dogs — Low 1ndustry growth rate and low relatwe market share

(11) and (111) are.correct

(@) and (ii) are correct

Answer not known

( W) and (iv) are correct _
- (D) (iii) and (itv) are correct

170. Which are not relevant to forecastmg human resources in an organization?

@

©

®)

Managerial Judgement
Work study method

Answer not known

171. Choose the rlght answer

(B) Trend Analys1s

erger

Performance Appraisal methods BARS stands for
Behaviorally Attitude Rating System '
Behaviorally Attitude Ranking System

@)

®)
©
v

E)

- 172.  Choose the wrong match type .

Answer not known

Behaviorally Anchored Ranking System
ehaviorally Anchored Ratmg System

Which of the followmg is mcorrectly palred"

@

(@)

(i)
(i)
@
©
)
®

RAPG!2022

Psychologlcal prlcmg -

Promotional pricing -

- Zone pricing =
FOB-origin pricing —
(1) and (iii) are correct .

(iii) and (iv) are correct |

(i) and (ii) are correct
(ii) and (v) are correct:
Answer not known

different customers pay dlfferent prlce for the same

- product

Prlcmg product _bel_ow list price. - '
Segmented pricing
P'roduc_t'_bljndle_ pricing



173. Choose the right matches among the folloWing :

174,

175,

®

@

(i)

- ()

(v)

©
O
- (E)

B)
(C)'

®

Japanese Term

(2) SEIRI

®) - SE-ITQN

.-tc)'. SEISO -

(d SEIKETSU

() SHIT SUKE

e b

e e GREn

@ 3 o

Cyfl1 5 4

i R
“Answer noi:_ known

- Choose the best optlon :

1.

>

(d)

— O OT QR

NN N D

Meaning ind apanesé context -
Throw away all rubbish and umelated materials in

 the work place

Practice “58” daily. Make it a way of hfe ThIS 18
‘also means commitment

- Standardizing the way of maintaining cleanliness
- Clean the work place, everything without fail

- Set everything in proper place for qulck retrieval
- and storage

Matenal handhng is a service functzon '

Tt 1s not. an end is itself |

- Continuous movement is not efficient

It should reduce tlme and distance

AN, (i) and ()

B

(1), (iii) and (1v)
(i), (i) and (tv)
(@v), (i) and (@ii) o
Answer not known

Maximizing value

Maximizing present value

_' Which of the following gives m_eahing'of shareholders wealth ma:_:imizati()n?
" : : : _ _

- Maximizing net 'preSent value

Maximizing the net present Value of a course of actmn to shareholders _

Answer not known

e o  RAPG/2022
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176. Identify the approaches to be developed by women to accept new roles in life.

@)
B

G
o)

(E)

Fearful and trauma

f Assertive and hopeful appi*oaches’

Threatened and social stigma
Harassment and ill treatment

Answer not known

4%

@)

L
©
(D)
(B

introduced the concept of M1cro Fmance

Mohammed Iqbal of Pakistan :
ohammed Yanus of Bangladesh

Mohammed Yazir of Afganistan

Peter K. Brown of America

Answer not known

178. Whlch of the followmg sentences are assomated w1th social movements‘? :

e
IL
ILL

s
A

®

©) .

®

A soc1al movement is a deliberate collectlve endeavour :

Social movement excludes v1olence 1llega11ty and revolutlon

A social movement must_ evince a minimal degree of organisation
A social movement is an effort to promote change '
I, Il .and III

11, Il and IV

I, 11T and IV

/11, T and IV

Answer not known

179. A movement stands for equahtarlan values to gam self respect and esteem

.
®)
©

o
®

RAPG/2022

"Mahar movement

- Self- Respect movement

Civil nghts movement

- Social Reform movement

Answer not known

40



- 180.

181.

182.

183.

According to spencer —— 1s a change from a state of relatwely 1ndefin1te, :
mcohert homogenelty to a deflnlte coherent hetrogemty

A Development

( : _Evolutlon_

tC) Progress

D) Transformation

(E) Answer not known

The class of aristocratic land owners explmt the mass of peasants is known as
(A) Capltallst stage

~(B) Ancient stage
| (_C)/Feu'dal stage

(D) . Primitive communist stage
(E) Answer not known

Choose the correct match from the following

(1) Karl Marx 2 ~  Immiseration
(2) - Herbert Spencer =~ - Social Conflict
(3) L.A. Coser ' - Organic Analogy

(49) Ralf Dahrendorf —  Ethno methodology

-(A/l)

(B) (2)and (3)'

© @
(D) (1) and (3)

(E) Answer not known

.OI‘ age.
A Hypergyny

is when a woman is married to a husband of lower social status, rank

(R/Hypogyny

~ (0) Strict monogamy

D) . Serial Inonogamy
(E) Answer not known

4 . RAPG/2022
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_184. The existence of a perfect linear relatlonshlp among some or ali expianatory
: varlables of a regression model known as -

A Heteroscedastlclty
' (B“Mulmcolhneamty
©) 5 Auto correlation
D) Spurious correlation _

(E) Answer not known

185. .'If a Durbm Watson statlstlcs takes a value close to zero what will be the value of
first order auto correlatxon co-efficient?

(A) Closeto-1
(Bwﬂose tol

(C) Closeto0

(D) Liesbetween—1to1l
(E) Answer not known

186. Indata cleaning, missing value of the data, may be replaeed- il
{A) - Positive value : : fe A :
" (B) Negative value
(C ¢#Neutral value
(D) Zero value '

(E)- Answer not known

187. The method of data collectlon Wthh is qulte popular partlcularly for detaﬂed
enqulrles is

(A) Observation method ' : - (B) Interview method
i (C uestionnaire method - (D) Pantry audits
(E) Answer not known el ;

188. Which one is called as non probablhty samphng" ;
' (A) Cluster sampling ; : _( Quota samphng :
(C) ~Systematic sampling = ' (D) Stratified sam_phng

(E) Answer not klnown'

RAPG/2022 @& - ._ - r



189. One among these are not a Commen Property Resources (CPR)

- 190.

191.

' 192. " s
G NABARD g ® DPRDA
(C) - Any Government Bank - - =k Lead Bank

193;_

194.

. (E) Answer not known -

(A) Culturablo waste lands -
(BV Current Fallow
(C) Protected and unclassed forest lands

(D) Permanent pastures and gra71ng lands -

- (E) " Answer not known

The main cause of acid rain B . L
.(A%OZ bl : a9 By
0 o0, e T

(E) . Answer 'n01_: known.. '

In economics, e refers to a bundle of entltlements deﬁmng the owners

right, pmvﬂeges and limitations for use the resources. _
(A) Pr1v1_1ege_d rlghts b 5 roperty righ'ts
(C) Personal wighte - T (D) Preferred rights" 2

(E)  Answer not known :

Dlstrlct Credit plan is prepared by |

(E) - Answer not known

Who suggested the use of agrrcultural Iabour prlce index as a more sultable deﬂator

~ while estimating poverty based on income and prices?
= (A) - P.D. Ohja : ( P.K. Bardhar_l

(©) BS.Mimhas . (D) V.M Dandekar
(E) Answer not known :

- Agncultural prlce comm1ssmn was renamed as CACP is in the year
: (A) 1980 L : o 1985

&) . mep i (D) 1992

i = - RAPG/2022
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'.'195. ~ In consumer’s behaviour analysis, utility can be e_asure.d, by
(A) Keynesian _approech : : (B Cardinal approach
o J_.S.. Mill’s approach ' (D) Or_di'nal e'pprloach
(E). Answer 'not known . ' e :

196. The capa01ty of a good to command other thl in exchange known as = .
AP o (By/?r ' Lo
(C) Wealth o . (D) Utility
; .(E) Answer not known Lo LS

alue

197. Comments can be edd:ed to cells using |
(A) Edit > Comments j (BMInsert > Comments
(C) File>Comments (D) View > Comments

(E) Answer not khown

198. 'The analytical study of relatmnshlp between output commodlty and its prlce is
it classﬂ"ed as : '

(A demand analysis . .(.B) supply analys-?_ls'
- (C) imports analysis = . - (D) exports an_alysis

(E) Answer not known

199. ThlS type chart is embedded w1th1n a smgle cell, in the excel :
: (A) * Pie e : 5 (Bx
© Column ~ (D) Spatlines
(E) Answer not known . e =

200. The value of statistic Chi-square for a contingency table

B B
9. s
A is 7
. after Yates’ cerrect_io_n 18 i s e : |
@A) 62528 o 7(M225/252
©) 4240/2525 - - (D) 845/2520

) (E)  Answer not known
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